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Instruction (A) : Question No. 1 is an objective type
question. It has three Parts - Part (A), Part (B) and Part

(C). Part (A) has multiple choice type questions. Part (B)
has fill in the blanks and Part (C) has match the following.

Each Part has 5 questions and each question carries 1

mark.

TH-1 (TS - 3) T faes T fefaw

(Part — A) Choose and write the correct option:

(1)

fawra w1 arafas g 2-

() IEH @) SEryamEnd

@) aEaE @ SgFaedf

Real meaning of development- |

(a) From income (b) By life expectancy
(c) Byliteracyrate (d) All of the above

(i) ¥ vErH Faoradars

(3N T3FaE @ A
GWIEREZIGIE:S @ SR

The type of soil is determined-
(a) From landform

(b) From snow erosion

(c) From water sources

(d) From globalization

[1x5=5]
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(if1) T T Y T S 3 R & sy -

@

)

(31) welt @

@ Rtz
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@ +ftagdtaedtmweds

Soil fertility due to long-term use of chemical

fertilizers-

(a) Increases

(b) Remains stable-

(c) isreduced

(d) sometimes it increases and sometimes it
remains stable

&l swhifer s s (A 3-
) wfed @ fem
@ =fa @ <K
___was the father (leader) of Russian Revolution.
(a) Stalin (b) Hitler
.(c) Lenin (d) Czar Nicholas
90 Wiy o ks e R S s=miara
& BT 27
(3 2% @ 334
@) 499 | @ 5as

At what age children reach 90% mental
development? '
(a) 2years (b) 3 years

(c) 4years (d) 5years
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a1 (EUS - &) faa i gid i [1x5=5]
(Part - B) Fill in the blanks:

1)

(i1)

(i11)

(1v)

wTgele RS G & G &1 A 8
The author of the book silent spring is :

= 0 &1 fFair FAT

determines the interest rates.

T & 6 HE dF & S<91 6 B YA eT
Sl

Children upto 6 months of age should be given
as food.

WA § qaE HANGHR ad it AT 1 e W

In India adult franchise is obtained on completion
of years of age.

MM TR&EANIAIFEFR FEd
The unit between village and city iscalled .
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wvA-1 (998 - ) e Haw sifs; [1x5=5]
) @
(1)) AEH (3) SRS
(i) = @ ¥Ez

(iii) Tegfuf @) 100 At FT TR
(iv) fRfemwifc @) IeRf=eN
(v) Pz EE () TEE

(Part — C) Match the following:

(A) (B)
(i) Income tax (a) Bauxite
(i) MANREGA (b) Internet
(iii) Aluminum (c) 100 days
employment

(iv) Digital revolution (d) Azad Hind Fauy
(v) Subhash Chandra Bose (e) Dairecttax

e (@) : T I 2 § 6 7 FT AgIHTTH & TAS
W W 2 3iF HEfed § SR /i Afawaw v €iwr 30
TR B)

Instruction (B) : Question No. 2 to 6 are very short answer
type questions. Each question cammies 2 marks. (Maximum
word-limit of answer is 30 words)

-2 R war & o we AN 12]
Explain the meaning of *Sink Capacity”.
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a¥-3 mﬁmfﬁmmﬁm&aﬁmmaﬁaw@

What is the most abundant metallic mineral found In
India?

TH4 Qe @t wad & 9 fafay

Write the names of two main Kharif Crops.

-5 R & e aee =T sl 27 a9 3 o) it 9t 94t

Why is budget important for the government? Why are
taxes discussed in the budget?

W6 I v R

What is “Chronic Hunger™?

Fdwr (@) - e i 7 /10 7 Iy agswla T
Yo% W T 3 e AT & (Sut ot fraan vieg-efty
5092 ®)

Instruction (C) : Question No. 7 to 10 are very short
answer type questions. Each question carries 3 marks.
(Maximum word-limit of answer is 50 words)

TH-7 S A R @ AFS I ae &
What figures do we get in census?

2]

[1+1=2]

[1+1=2]

[2)

[1+1+]1
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qyA-§  SUMRIH FT 82 U e R | %A U 71

- What is Colonization? When did Colonial rule end in
India?

A9 | T ST T ST A G H A
gferaT STw X gt 87

What facilities can the public get from the Panchayat by
using the Right to Information?

w10 A7l & O STt A d AR A HT

qgdr 87

What challenges do small producers face due to
globalization? https://www.cgboardonline.com

39 (2) : T HAIF 119 14 T Y-S0 TH 8 T4
e ¥ e e 1 ST T W4 3 e §

(ST T AT Iee-HiaT 75 715< B)

Instruction (D) : Question No. 11 to 14 are short answer

type questions. Each question has internal option. Each

question carries 4 marks. (Maximum word-limit of
answer is 75 words)

wR-11 3 R ie forer i et @i it v 3 st <Y
0 furfa oy gEan

If Hindu Code Bill (Law) would have not passed, what
effect would have been on women of India?
AYar

OR

[2+41=3]

[1+1+1
=3|

(14141

[1+1+1+

1=4|
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THT AT T3 7137 & HT-HRT e I g7
What were the positive effects of the formation of

language based states?
wea-12 R favagee & SR R & Sead [1+1+1+
Mention four reasons for World War II. 1=4]
HYJT
OR
wrdtaR & 9R e fafey

Write four characteristics of fascism?

WEA-13  “1914 3. A TR §U TR &l favaqee Feromarai gaaed [1+1+1+
IR 1=4]
The war that started in 1914 AD is called World War.

Confirm this statement.
HYUAQT

OR .
U 99 i weer & fhedt 5 fregiat =t feifag

Write any four principles of the League of Nations was
established?

T¥A-14 0T GEY U 3T day 3 1T SRy - [H141+

What is the difference between renewable resources and 1=4]

non-renewable resources?
' HYQT

OR '
v-Aften sftfre 2013 w v sl
Throw light on land acquisition act 2013,
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3 s e 31 Tei S T 5 3id e f GWH
FHiteran Te2-dT 100 T2 ©)
Instruction (E) : Question No. 15 and 16 are long answer
type questions. Each question has internal option. Each

question carries 5 marks. (Maximum word-limit of
answer is 100 words)

15 FrIreiaEtor Y STawEhdr i 87 [141+1+
Why was disarmament needed? 1+1=5]
e
g ater ity fastvand fafay

Write the main features of social movement.

.16 T R R €7 R0 & T 0 SR AW W EAE, ARG [
fipat 3nfe Y STaTaeRar I Bl 82 =]

What is loan? Why some condition like interest rate,
time, guarantor, mortgage ¢tc. are essential for loan?

HAUAQT
OR
i e S o R o e e T A g

e W ST YT T ST T

If the Reserve Bank of India does not control
commercial banks, what will be the impact on the

currency and credit system?
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9 (&) : W i 17 O 18 e-370T T3 81 TAF T
¥ it faseT ) Tl WY W 6 3i AEfed 81 (STl |
Jrferera TIsE-HIAT 150 ¥s3 )

Instruction (F) : Question No. 17 and 18 are long answer
type questions. Each question has internal option. Each
question carries 6 marks. (Maximum word-limit of
answer 15 150 words)

W17 fo Aven S, 3 Whor 3 A oy e 3 SRR [3+3=6)
G R? ‘

What similarities and differences do you see between
print media and T.V. communication?

YT
OR
SEEI AT & @ T 7 fafan
Write the advantages and disadvantages of mass media.

- WE-18 RA & Ugfa i ik T wRA S @A A e AR 1414
Briefly discuss the powers and functions of the President +1+1+1
of India. =6]
— :
OR
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- TRl S st o g ¥ T e a § e
HIHHY T8 L 3 e 7 59, 7 - e el
gffaa R mr ¥
In Indian democracy, The Prime Minister works like an
axis. He should not be autocratic and become dictator,
for this which methods are precised?

kkkkhkhhkid
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